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1.  What is the value of log, log; y'?d'fﬁ equal
to 7
tal  Flog, 7
by 1-3log,7
&) 1-8log,2
T
iy =
B
. If an infinite GF has the frel term x and the
sum 5, then which one of the following is
vorrect 7
(a)] x<=10
(b} —10<x=<0
ey D=x<10
{d}y x>10
3. Consider the following expressions :
1. T l
X
2 Jax1+hx+x—1:+—--a—ﬂ
x x
3 Ax? — 5% + ab
2z
4,
x? —ax + b7
2
g A
x 2+ 5
Which of the above are rational expressions 7
{a) 1,4 and 5 only
{b) 1,3, 4and 5 only
) 2,4 and 6 only
(d}y 1and2only
YPL-S-BLU
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A square matrix A is called orthogonal if
(a) A=aA%

by A=Al
e A=A
d) A=A

where A' is the transpose of A,

If A, B and C are subsets of a Universal set,
then which one of the following is not correct ¥

fa}) AUBEMNCO=AUBINALUD
by AUAUB=(BNA UA

e AUIBUC=IC'NB NA

idi (ANBUC=AUCINIBUCLC)
where A' iz the complement of A.

Let x be the nuomber of mtegers lyving between
2000 and 8001 which have ol least two digits
equal. Then x is equal to

(m) 2480
ib} 2481
(e} 2482
d)l 2483
. 1 1 .

The sum of the series 3 = 1 + i 1
equal to
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Congider the information given below and
answer the fwo (02) items that follow ;
A survey was conducted among 300 students.
It was found that 125 students like to play al 6
cricket, 145 students= like to play foothall and

11. What is the coefficient of the middle term in
the hinomial expansion of (2 + 8x)t 2

! (h) 12
90 students like to play tenmis. 32 students

like to play exactly two games out of the three e} 108
BT dy 218

8. How many students like to play sll the three |12. For a square matrix A, which of the following

games ? properties haold ?

14 1. Arl=aA

g == 2, detiA~') = dei <

(e} 28

(dy 36 3. (3Ar' =2A"! where & is a scalar

Select the eorrect answer using the code given

9. How many students like to play exactly only i

one game ? ta) 1and 2 only

(a) 196 fb) 2 and 3 only

ihy 228 fed  1and3only

(e) 254 idy 1, Z2and3d

) 288

10. 1f o and (= 0) are the roots of the quadratic |13,  Which  one  of  the following  factors

equation x* 4+ ux — f§ = 0, then the guadratic does the expangion of the determinant
expression - x°© +ax + | where x e B has % ¥y 3
{a) Least valoe — 1 x* EFH 8 | contain ?
g x 1wt 27
ib} Leastvalue - =
1 {a) x-23
' - : | o
ley  Greptest value 2 L e
id) Greatest value % (e} ¥-—4
idy =-—3y

YPL-5-BLU {5=-A)
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14.

15.

What is the adjoint of the matrix
foposi—8)  —sinl- 0 .

I S———

" poafl —ainBl
iP5 |
 — gin B oo B |

‘cogfl  smmH
(b

(gind  cosd

)

cosll Binﬂ}
~sinfd cosi

feogfl  —sinB
(dr |

| gin b oo O

What is the valuae of

28" (238"

2

where i= .,.—'_l ?
)
by 2
(el 1

idi 0
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There are 17 cricket plavers, out of which
5 players can bowl. In how many ways can a
tenm of 11 players be selected so ag to include
3 bowlers ?

fa) €711
b €12, 8)
e) (17,5} = C(B,3)

(d)y C(5 3)=C13,8)

What is the value of log, 27 + log, 32 7

|
(&) 5

19
b o
\ 6
(el 4
) ¥

If A and B are two invertible square matrices
of same order, then what is (AB) ™ equal to 7

a BlaT!
(b} AB
fch B 1A
d} Alp
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19. If a+ b+ e =10, then one of the solutions of 22,  Which one of the following is correct in respect

a—x © b of the cube roots of unity 7
= =0 i
=2 e i {a) They are collinear
b a c—x
ik} They lie on a circle of radius v3
a) x=a8
ic} They form an equilateral triangle
: 2
b k= ||3l“£+b ) {d) MNone of the above
| 2
- E{az+h2+c2}
c) x= 5 28, 1f u, v and w {all positive) are the p™, ¢'™ and
rib terms of 0 GP, then the determinant of the
(dy =x=0 Inu p 1

matrix | In v q 1[is
an, What should be the value of x 20 that the

2 4
matrix [ ] doea not have an inverse 7
—y F.l X Lar I}
{ 16
¥ by 1
(b} —16
el p=gilg-r)ir—pl
(e} B
@ -8 (dl Imusinvelnw
21, The system of equations 24. let the coefficient of the middle term of the
2% + y— 3z =B, binomial expansion of (1 + ¥*® be o and those
Ix -2y + 2z =5 and of two middle terms of the binomial expansion
bx-dy-z=18 of {1 + xy¥n-1 be | and y. Which one of the
(a}  is inconsistent following relations is correct 7
(b}  is consistent, with a unique selution (a) a>P+y
fel is ﬂr:ll:l.'Ei!Et.E'llt., with infinitely many B <Py
solutions
id) has its solution lying along x-axis in e} a=pf+y
three-dimensional space (d) a=py

YPL-S-BLU (G=A})
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25 AR A= xR

26,

27.

l=xs1l,
BalyeR:-1lsys st s AaxBw
Mﬂﬁ'ﬂ%.ﬁﬁ'.&:IIx,ybcﬁxB;;1‘+3-'~’=1;|
AT gftariag 8 |

fafafioa § & sh.m e adt 2 7
(a) 8, A B U U% THA S #
(b} S A BT TH 950% o

(] S A® B A TF vk seEE wfataam
2

(dl SV e T8 8

qA ofifom fF r =1, 2 3, . F fwoT, feh
wir AVt (AP @1 oaf g # ) 3l el fim
WA U m 79 oo % fom mwR @
T,=Un3M T, =1/m8 @ T  FFF s,
®7

(a) e

(mn
(b} mt+nt
(e} 1

tdy 0

o wifaw i fx) 8 TR = o fom sww

- # o ot amfaw x5 om owaem R

e gix) = fx) + Pix) + 00 #, 7 Gedt off
yrefash x & fom

{a) gix)=<0
(b}  pixi=0
Ll gixl=0
d) gixiz0
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28. TEAOH HE F IR A, B C % wEg &

Frafefies w famm $ifim .

1. [(A+B+C)=A+B+C
2, {AB)=AB'

3. (ABCY =C'B'A

TET A, SSYR A T AiEd # |

FFE A RAA TR Y
(a) HEH 132

by e 233

(ed  Faw 13ma

(d} 1,23m3

29. Rwmaf gems (11011, (10110110), 3k

a0,

{(10-A)

(10011x0y), 1  apred, fGamafi  gem

(1011011015, 2 | x3W yFamam & 7
a) x=1v=1

{h}

x=1,¥y=10
el x=0,y=1

d) x=0,y=0

uiA cfifim 5 wmeqe B, us 9 smegm A =
HeEEd MIR B, A& W 3 w5 w1 oww
AEHEE R [ | AR k i#0), WEHE A W
HRE 7, 1 AR e o @ o
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(bl L
ey W4
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25, let A=[xeBR:—-1<x=1}, 28,
B=lyeR:-13y<1]and Sbethe
subset of A = B, defined by
S={x.vieAxB:x*+y =1L
Which one of the following is correct ?
fia) 8 is a one-one function from A into B
(b} 8 is a many-one funection from A into B
ic] 5 is abijective mapping from A into B
(d) S is nol a function

26. LatTrl:ruthﬂr*htem-trfEnhPﬁur
r=1, 2 3, ... I for some distinct positive
integers m and n we have T_ = 1/n and
T, = 1/m, then what is e eqqual to 7 29.
(al ':!III.I:I:'_I
(hy mlen?
i) 1
dl 0

27. Suppose fix} is such a quadratic expression
that it is positive for all real x. 30,
If glx) = fix) + Flx) + ix), then for any
real x
(a) gxl<l
by gixl=0
€] gixi=0
(d)  glx)z0

¥PL-S-BLU {11-A)
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Consider the following in respect of matrices
A, B and C of same order :

1. (A+B+CV=A"'+B+C

2. (AB) =A'BR

3. (ABCY =C'BA

where A’ is the transpose of the matrix A.

Which of the above are correct 7

ta) 1and 2 only
fhY 2 and 3 only
f¢) 1and 3 only
dd 1L Zand3

The sum of the bhinary numbers (11011},
(101101100, and (10011xly), is the binary
number {101101101).. What are the values of

xandy?

al x=1l¥y=1
b x=1%=0
e} x=0,v=1
(d) ==0,y=0

Let matrix B be the adjoint of a square matrix
A, [ be the identity matrix of same order as A
If k (=0} is the determinant of the matrix A,
then what is AB equal to ?

faj ¢

(bl

(e} K
idl e
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31, AR (027 =2 R log,, 2 = 03010 B, A x
Wi e gam we R g

tal  —100
(b} —05
(e —04
ey -02

32. 08 97% % fum il F gw 5 o et
ferait weamd = = = # ¢
fa} 45360
(bl 30240
e} 27216
{d} 16120
[ ¥ y+z)
33, SFYE |z x  z+x| T OANOE WHETR 7
y = x4y
a) =ylly—z){z-=35)
b} ix—yhiy—=z
led (y—zllz—x)
{c} Ez—x]2m+y+z}
YPL-5-BLU (12—
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34. afg A B3N cvs ByE 5w # o

| 1 1 1
1+5inA 1+sinB 1+ginC | =0

sinA+sin®A sinB+sin®B E:u:l{:rsi_nzﬂi

B, m Ffefias § & #f9.m ve o & 0

(a) Frqw ABC wwfgams &

(b g ABC T #

ey Fq= Apc T 2

(dy g vl % oaw d W Fewd o

ST et

85. UHHTE F F oaeyE A 3 B % gay i
Frefafas w famn fifbw
L AR =(A+BIA-B)
2. (A-DI+A=0e=4A%=1
W 1AHEE HiegE # 3 O I avegE #
I | Wl BE o
{a) aH 1
(by Fae 2
(e) 13 2 &l
(d) FFM1,TF2
= sz%% PR !
(a) cos20
(b}  tan 28
(¢)  =in 28
(d)  cosec 26
Al
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21. I 02F =2 and IHE]-[: 2 = 03010, then what 24. IFA Band C are the .E.I!g].["S afa tl"lkﬂ.ﬂgll'.'. and

is the value of ¥ to the nearest tenth ¥ 1 1 1
1+sinA 1+sinB {esine =
) =100 sinA+gin®A sinB+ain®B  snC+ein®C
i —08 then which one of the following is correct 7
{a) The triangle ABC is isosceles
=0 (6} The triangle ABC is equilateral
idy -02 ie) The triangle ABC is scalene

{d} Mo conclusion can be drawn with regard
to the nature of the triangle

32, The total number of 5-digit numbers that ean
be composed of distinet digits from 0 to 9 is 86. Consider the following in respect of matrices A

and B of same order !
fa} 45360
1. A*-B*={(A+B){A-B)
(bl 30240
2. (A-DI+AI=0esA%=]
(el 27218
where T iz the identity matrix and O is the
(d) 15120 nul] matrix.
Which of the above is/are carrect 7
’ ! : {a) 1only
%9. What is. the determinant of the matrix
[H y ye+z) (b} 2 only
Iz x z+x 7 e} PBothland?2
IJI" Tz X+y {d} MNeither 1 nor 2
(@l =¥l (y~— - v
al (x-ylly-gliz—x) 4., Whatis—‘““f to 7
1+tan®d
by [(x—vwhiy—u)
i {a} cna28
¢ iy—zliz—x} (b tan 20
1 '“:':' sin .EH
id) (z—-xl{x+yv+g
idy cosec 28

¥PL-S-BLU (13-A)
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(AP)® #, 98t cos v 1B, A7 sin? 8 + cos o FT
HE F R

(a) 0
® 1

@ -1
id] %

4% A+B+C=180° 2, A

sin 2A - sin 2B - sin 2C 0% soa £ 0

a) —4ginAsin B sin C
bl —4ecosAsinBeosC
el —4cos Acos B sinC
dl —-4sinAcosBeosC

F R | e B gE % gE PR W smee
0 48 R | 93 99 & Iw F AN 6t S

122 m &, 1 g &1 ovand 7 & 0
(a) 122 gin 48° m
(b) 122 tan 42°m
(€ 122cos48°m
(d) 122 tan 48° m
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40. =Y wautn d w wor A R | 2@ G

41,

(14-A)

HHET 3 (3 - tan” A - cot AP = 1 I GO
=M el a s asrom a2 o

(ay  300°
(b) 315°
e} 330°
(d} 345°

h F=1E i TF AU & Wi I A B dey W
ﬁm%?ﬁ&%mﬁﬂﬂmm:%si‘ng

Fimd R Fmadam gy
{fa] 2h
ah
(b} "'j_
ey h
h
d Lo
) 3

Frrtfihy wdfm cosec x + cot x = V3 FIE
Eﬁwm.ﬁﬁﬂ{xdﬂnﬁ?
= bim

wEe —

(a)
3

(b} %ﬂﬁg

HEE n

)
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37. 1f sec (0 — o), #ec f and sec (0 + a) are in AP, |40. A is an angle in the fourth gquadrant. It

where cos o = 1, then what is the value of aatisfies Lthe trigunometric equation

ginZ 0+ cosa? 3(3 — tan® A - cot A = 1. Which one of the
following iz a valuoe of A7

n) O
(g}l 300°

thy 1 (by 315°

{L":' = ]- [L'l:' E—Eﬂ“
idd 345"

1
d =k
d) 5

41. The top of a hill chserved from the top and
bottom of & building of height h is at angles of

elevation = and — respectively. What is the
38. If A+B+C=180° then whatis & a3

gin 2A — sin 2B —gin 2C equalto ? height of the hill ?
() —4sinAginBasinC {n] Zh
(bl —4cosAsinBceosC (b) %
e} —4dcosAcos BainC &6 %
dl —d4snAcsBesC h
idb 2—

39. A balloon is directly above one end of a bridge.
The angle of depression of the other end of the 42. What isfare the solution(s) of the
bridge from the balloon is 48° If the height of trigonometric equation cosee x + cot x = V3 ,
the balloon above the bridge s 122 m, then where D <x<2n?

what is the length of the bridge 7 =
fal = only

() 122 sin 48° m

X
(by 122 tan 42° m (b} 3 only
e} 122 cos 458°m oy
idd 122 tan 48° m =
(d} %, E‘ ﬂ
3 3

YPL-S-BLU (15-A)
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44, ﬂﬁﬂu%iﬂfﬁ 46. T v i AR GP) @ gEn T 2§ adn
THE IFA &
{EWEH'I']':IH}':EE‘HHEH—Ihlntﬂﬂﬂﬂﬂ—]_]lu I:GP]i qﬁ‘ m ﬂ'i:l ﬂ Tn-'-.:ﬁ ﬂuﬂ.
(2 cos 46— 1)10
1 O 41 3 9
? f B .
fa} @ 2°°8
b 1
& w2s 2.
e D 5'26
) 4
G Ak L
2' 92

44, TR cos o 3R cos Bi0 < o < i < n), T
AT 4x® - 8 = 0% q& #, A sec o x sec B (d] B.-’ig.%,---

&1 O R
{a) _g 47. A a, b, c FEE 0 77 IR ARt W wTeE
" it # 2P fipdk e 2 9
(b =i b
3
TR () 2 sy 1 sy
4 a c
0 | ? ¢ e
4 (b} — JEET — arEEn 1
a b
45. x & Fefsfes o@ w R i . (e) lm%awi
1 B ¥
Ae =i (dy 1 3FE L aqgar &
! 1 b a
q £
6
£
. 48, st 1 T wh HEmet = G w2

« F IE uEl § B wema i A wft d9 3, 4 50 58 T W o E

tan~ (20) + tan~ (3x) = % 0w A 2 wEl 311 1 g wied 377 @ 0
{a) HEH 3 lal 2664
by e 233 {h) 3882
o)  WEe 194 () 4044
(d) a4 o adi
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43. If b= E, then what is the value of 46,

(% cos B + 119 (2 cos 20 — 11192 cos 6 — 1)10

(2 cos 48 — 1310 7
{al
(bl
(ed
{d)

= b o= D

44. Ifcos o and cos i (0 < o < P <l are the roots
of the guadratic equation 4x? - 3 = 0, then

what is the value of aec a x sec i ?

4 47.
':.EIF = E
4
b _
{h] 3
3
] —
e y
;|
S
d 3
45. Consider the following values of x :
1. B
2. —4
1
- B
I 48,
4 =i
i

Which of the above values of x igfare the
solution(s) of the equation

tan-! (2x) + tan~} (3x) = E ?

{a) 3only
ib) 2and 3 only
(el 1andd4only
idi 4only
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If the second term of & GP is 2 and the sum of
its infinite terms is 8, then the GP is

fa) 8, 2, %, %.
) 10,2, %,%,
(&) 4.2.1,%.%.
(@ E.E.%,%,.

~b
If &, b, & are in AP or GP or HF, then i_ﬂ s
equal to
fa) Eﬂil'll:rrE

i -]

[+ ]
(hi —pr = or 1
? anrh

Lch lnr%ur—:-

{d) 1m%m-§

What is the sum of all three-digit numbers
that ¢an be formed using all the digits 3, 4 and
5, when repetition of digits is not allowed ?

ia) 2664
(b} 3882
(el 4044
id) 4444
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48, FHFEN ax® +bx +c= 03 p® 4 g + r = 0|52,
% qEl  wgwa woe ® | Wl p, @ D,
&0 T v & Al € At % fm

2

e # 7

2
(s H—E

P

a
(h) ""—?

q

2

iC
fe) g

3
id) I °§ | wE TE

54.
50. AT A = sin? 6 + cos? 0%, A W T 0 %
o da s o afi g 0
fa) 1<A<®
3

) Z <A<t
‘t. o
13

) ==%

e 18 A<

@ 2 cacid
4 16

51. ﬁ?ﬁﬁﬁﬁqﬁﬂmmﬂn(aﬁ}ﬁﬁmj,w
N (xy, y,) &, T 30 T 0wl R
(@l rx—let—12}+{y—yl}{y—y2)=12+ﬁ
1] Lt—xljzﬂ_v—;.rlliuxﬂyz
te) x¥seytedxx 42y y. =0
i) x—x) (x—x) +ly =3y~ y,) =0
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o 7 22 + 4y - 2x - dy + 2 = 0, FW
frefm = & o

o g
w2 w9 1 T T deign

(@)

il

© 33 s aren s A

(d) I 0 | FE 967
T Ix+my+n=0 3N
U's+m'y +n' = 0F o= F 190 an 1o fom
TR 6 e T 2y
@y [om=im

' —mm’

im'+ 'm
b}
: #+ mm'
e (E—im

i+ mm’
(d) fm' +I'm

' — mm'
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49. The ratio of roots of the equationa

ax? 4 bx + ¢ = 0 and px? + qx + v =0 are equal,
If D, and D, are respective discriminants,

then what is %‘- equal to 7
2

2

fa) 3_2
i

b

b 2
q

o
(

(el =g

e

(d) MNone of the above

§0. If A = sin® 0 + cog* 8, then for all raallﬂ-,
which one of the following is correct ?
m) 1=A=2
4
b} —=A<1
4
13
— 2 5]
(el 16
Hi 13
P R e 2
(d} ; sAs
51. The equation of a circle whose end points of a
d.iamaterure#ul,z.ri}n.nd I!.i,jl'gjili
(a) [I—Hl}{I—IE]‘*[}"F]}ﬂ"—,}"gjlﬁi'i'}'ﬂ
b} ix-—:l'JEH:.r—}rI'ltr.:E:.rE
{e) x2+¥y%+ e x4+ 2y.¥,=0
id} [::—:-:1!'1.1—13}+f}r—}r1}{:.r—y3]=u
¥PL-5-BLU
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The second degree equation
x4 dy? —2x — 4y + 2=0 represents

(a} A point

{b)  An ellipse of semi-major axis 1

el An ellipse with eccentricity ﬁ
{d) None of the above
The angle between the fwo  lines

Ix+my + n=0 and
given by tan™' 8. What is 0 equal to ?

I's +m'y+n'=0 18

(& im' —I'm

Il = mm’
|

;h; M
I+ mm'

(6} IH..I —"m \
i+ mm'
fm" = I'm

dy gl

[ =
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54. Fr=afofas wedl v fam Hifmw 6. HOAE Sx -Gy +2z+ 11 =08 fm iz 0,06
_ (EoEil
[ -{mﬂﬁy=m+c13ﬂ1}r=m#¢2ﬁ; qlﬁ i
PP |=i_t,_;| | (a) 12 ()
:1”" by 2 g (areE)
2. & ax+by +e,=0 30 (e} 3 (BT
ax + by + e, =0 % =19 #) = i :
|E1—E2| El {d] 4%{%]
a® 4+ b?
3, tﬁlﬁx:claﬂ'{x::zﬁiﬂﬂﬁ{ﬁ
e~y &1 57. Toga 0, P, Q 3% R % FRwis w0, 0, 0),
{4, 6, 2m), (2, 0, 2n) 307 (2, 4 6) & | wm Hifaw
I T § wAE gh F g & L M, ¥ 30 K w99 @ OR, OF, PO
3 QR 7 vER & R d 5 LMNK S
ta) HEF 1 3R 2 AL wE @ Freelt 8 gem oy Lk s
& Tl LM%, frl & v Fremad V2 % | moain
n & T AW &= F 7
c) whaE 1 33
@) 6,2
(dy 1,233
M) 1,8
€} 8.1
55. Tm?masxﬁwwiﬁtmﬁ @ T
-E:q-.:.]_gl E +~—2_ EIiEﬁﬁqfa:ﬁ
T B Tt R S W dx 4+ By - 6 =0
HATAL B 7 =1 y=9 g=3 .
58. I fem frefim vl
(a) 20x + 26y — 54 = 0 37

. ) R
(b) 28x +20y-54=0 Al x+v+z=6 x+Zy—dz=—4

(b} x+2—27=-1, dx+4y-52—3=0

[¢) dx+8y—584=0
g} Sx+2y-8¢e=0 Ix-Gy+83z=-2

{d) ‘:}[*5}"“45-{' idd 331-2.}-_:51:_21 ,'j:[—ﬁ}*q..ﬂﬁ;!ﬂ
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54. Consider the following statements ; B6. What iz the distance of the point (2, 3, 4) from
1. The distance between the lines the plane 3z~ 8y + 2z +11=07
¥=mx 4 ¢; and y = mx + cg is u. (e  Lounit
v1+m?
2. The distance between the lines (k) 2 units
u+h;.r+r:|=ﬂandu+h}r+|:ﬁ=l}is £ Dounits
ey — eg|
a? +p? idl 4 units
3. The distance between the lines x = ¢
und x =¢yis | £y -y 57. Coordinstes of the points O, P, § and R are

respectively (0, 0, 0), (4, 8, 2m), (2, 0, 20} and
{2, 4, 8). Let L, M, N and K be points on the
(al 1 andZ2only sides OR, OP, PQ and QR respectively such
that LMNK is a parallelogram whose two
adjacent sides LK and LM are each of length

Which of the above statements are correct 7

{b) 2and3 only

‘ ' d
{e)  1and3only J2. What are the wvalues of m and n
respectively 7
idi 1.,2and3
(a) 6,2
by 1,3
B5. What is the equation of straight line passing
through the point of intersection of the lines teb 3,1
S L i
2 + . 1 and 5 * g 1, and parallel to {d} None of the above

tha line 4x + Gy — G =07

1 ¥-2 z-38

() 20x 425y -54=0 58, Thelinel—; - is given hy
(b 25x+ 20y —-54=0 (g zZ+y+Emb u+dy—Jz=—4a
(€) dx+By-54=0 B wdyslpa=l, dxydp=ai=aan

) dx+2%y—8z=0, 3x-6y+3z=-2
(dy dx+bv—d5=0

(d) 3x+2y-32=-2, dx-6Gy +3z=0

YPL-S-BLU (21=A)
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59. Fr=fafas wad o fmn i .
L. WHEel fx-y+e=13Mx+y+22=3
% o= 1w E-E |

2, HAWEH 6x - 8y + 62 + 2 = 0 aff
2;-?+aa+4=u?i;ﬁa-fraﬁ%}ﬂ|

v el 8 @ wE a2
(a) Ed 1
(b} F=E 2
) 13 2gFE
) AdA,ad2
g0, Fr=fofas w5 w faan $ifw .

FH7 1 4R st Pim, n) 3N Qir, 80 F
fiem e v gEfam W
O o WAE W B, A

CoE (1 = —a #1

..,Ilim-E i nﬂilllrﬂ + RE]

w7 i1 et ot Frgm ABC A, T oW 2 e

a¥ =b?% + ¢ - Fbeeos AL

w9 wwl & dew §, Fofaten § @
FIA-H U =R Y

SHT w19 1 856 # 3% w1, s
1 =1 T Pt B

T wEA 19 10 ad #, e wea
w1 1 AR FE A T8 E

(e} U 1 W& 2, o w11 T @

{a)

1hb)

() we [ e R, e e ool @
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w0 Fiygw &1 dmeet wan & fawd o g
) () (o)

(a)  lxy —xh (g — X5) (Rg ~ 2, )|
thy 0

ic) [KI —}LEHIE—K:]_]'[I‘*—H]:'

KyXgpxy

!II—KEJ[HE-.IEEEE—II]

(d)
2'..'!11 XaXy

afg y-378, 9 x2 + y2 4 gx + fy + E = 0%

w5 W 2, A 5 g W sifue, g w0 e
forg m M R 7

_E _f)
ial ( 3’ "3
r
(b [—g,—E}
_E
el [ EJT]
dy  (-g —f)

o= it & |G| 0, | b = 0 R |
(@ + )@ + Bi=|a]2+ | |2 mf
g 2, uft =i e afz

a #i
ib) & 3N
i¢) o #n
#n

LE: T Emf

b i

b, 46° % w7 T oA &
b wffems §

d) a
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59. Consider the following statements : 6l

1. The angle between the planes

Ix—ye+zaslandx+ y+25=318 %
2. The distance between the planes

fx—dy+62+2=0 and

: L1

-y + 224+ 4=0is i

Which of the ‘above statements isfare

correct 7

ia) 1only

iby 2 omly

{e) Bothland?2

(d} MNeither 1 nor 2 &2.

60, Consider the following statements :

Statement I': Il the line segment joining the
points Pim, n} and Qir, &
subtends an angle a at
the arigin, then

s — 1r
O3 L= i 3 s
Jm? + af i+ 24

Statement I1 : In any trinngle ABC, it is true
that a? = b® + ¢® — Zbe cos A

Which one of the following is correct in respect

of the above two statements ?

63,
{a} Both Statement | and Statement II are
true and Statement I1 is the correct
explanation of Statement 1

bl Both Statement [ and Statement II are
true, but Statement II is not the correct
explanation of Statement I

icd  Statement 1 is true, but Statement 11 is

false

{d} Statement | is false, but Statement I1 is

Lrie
YPL-S-BLU (23-A)
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What iz the area of the triangle with vertices

xl][x 1] 1-:1"-?
tr-“l.1 ; 2.-‘_3 i HFIS

() [y =%y (X — xg) (x5 — 2, |

(b} 0

e} LXq —IEHI-E—I:;]I:K:] = %1
X1¥xaxy

() [Hl—xgﬂxg—ﬁraiﬂtﬂ—-lﬂ
2xxaxy

If y-axis touches the circle

x4yt opn o+ iy + % = ), then the normal at
this point intersects the circle at the point

£ f)
(&) [E' 5

f £
T
® |-8-3)

_E f]
el [ 5
(dy  (-g 1)

Let | & | #0, |5 | =0.

(e B2+ D=7 |3+ |02

holds if and only if

@) & and B are perpendicular

b} & and B are parallel

(¢} @ and b areinclined at an angle of 45°
(d} = and B are anti-parallel
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(a) ﬁhﬁii-%E
ih) ﬁ?+%j+%i

(e) ;T-%:{-l&ﬂ
(d) lﬂf+%i+%ﬂ

A |a+ b | WEFTFENE?

ial B

(hy 6

) ] «.n"i

id) B
YPL-5-BLU

85. wm 2i - + k ol —4f - &, v
T, UF g afew (gfe dee) &

66, FE |a|=3,|b|=43 |3 -b|=5%

(24-A)
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=i -
@ |A|>|B|>|C|

a) E

(bl : HE}

Le) Et? :-r_i:h
W |z [P=| b 2

P+ 2] + 3k T miw vs safEEE w T
Tz =i Bi53 ® ak 997 0009 2 | SFafeE
& aargef =1 wftom #

fa) &

(b} 3a

e} JBA

(d) T ° & =



e T =
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i .
P :.-'3 + #k, then what is

L A ] &
r* A1+ 1+ k)lequalto?

la) =
b} x+¥
fgd  —lx+y+u

(d} (R+¥3+2z)

85. A unit vector perpendicular to each of the

i A & A R
vectors 2i — ] + k and 3i -4) -k is

il 1 » L o lﬂ
y — o B x - =
ol LI e -
A
{hi %$+£j+%k
1 2 1 A |
£ - ey 8
SO ol f e
& 1 & 1 &
@ Ei+girgk

ek
66. If|a|=3 |b|=4and |a — b | =5

b

then what is the value of | El_:' + s
fa) B8
b 6
(e) B2
idi B
¥PL-5-BLU

(25=-A)

prepp

Your Personal Exams Guide

l.et?.?and?bathr&emuﬂmﬂy

perpendicular vectors each of unit magnitude.

=} T - T e T
1f&=?+h +¢,B =8 —-—b +cand

E = : - Eh - ?,t.hen which ome of the
tollowing is correct 7

—p e
W (A B[sE]
—% =

@ | |=]|H]=1C]
- - —

@ 1A|=1B|=]|C]

—}
@ |A|=|B|=|C]|

Whatista — B )xia + b )egualto?

) 0
(b} E‘ ] F
idl d(a %xPB)

A spacecraft located at P Ef + Si is
subjected to a force ?LI: by firing a rocket. The
spacecraft is subjected to a moment of
magnitude

ial A
bl J3A
i JBA

(d} Noneof the above
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70. wE figm ABc o, ofz #wm O fawm wm, A|73. wEW

F=feriaa et o fasn $ifam . e
ol - 3w ‘E AT x w0
I; AR + BC + CA = 0 filxl = " “ﬁﬂ“ﬁq
B . 2
# » e ; X
2. AB+BC-CA =10 = Fx=0
— r » [ 5
3. AB-BC+CA=0 e & ey A, frefofes § @ s v gd
. = - t'.-’

—
d, BA - BC + CA =

—
-

(a) ¥ x =0 T94 78 #

IR wmaA A o e gl # 0

) T (b} T8 WEF x WA S
A (¢) ¥® x=nT " 48
(&) (d) W8 x=09 Had &
(d) =m

74, FOH fix) = |x - 3| & fom, Fafafes 4 &

71. UH a0 & 5% v = cos! (sin x) B THUET WA U w5 TE R 7

tan 8% | 7% IFAUA (0, ) H 6 A B ;
(a} HEH x=-3 90 Had 78 B

r
(el st
.y bl T x=3WHAA B
(y on
4 (&) WO % = 09T AgHeetg 3
ey =X
A () FFH x=—3 W A B
)y =
2
2x - sin ' x -
75, irﬁtﬁaqftn:—lmirmﬁqﬁ
2x +tan™ x
=1 q =
72, ﬂﬁl?x::ﬂi.‘nqqﬁqﬁqﬁmﬁa Wi fag, Wb B, @ fo) W W w0 R 7
n_
AT B, T THE S R 7 ta) _%
fal (== 4) {4, =) 1
{hi i
(hy 14, =) d
el (1, 4) U-(4, o) e} %
dr  [1,4)L{4, 3
(dy 2
¥PL-S-BLU (26— A)
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70. In a triangle ABC, if taken in order, consider
the following statements ;
— m—
1. AB+BC+CA=0
e N
2, AB + BC -CA =0
= — s
3 AB-BC+CA=0
— = - =
4. BA —-BC +CA =10
How many of the above statements are
correct ?
ia) Omne
i Two
ey Three
id} Four
71. Let the slope of the curve y = cos™' (sin x) be
tan 4, Then the value of B in the mmtesval (0, o
is
™
{a) 8
dn
b riad
(b} :
ft
ich I
=
2
{1 :
72. IR =X defines a function on R, then
I_
what is its domain ?
(a) (—oe, d) L {4, =)
(hy [4, e
ey (1) L id, =)
dy (1,410 {4, =)
¥YPL-S-BLU

73.

T4,

75,

(2T -A)
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Conzider the funetion

Bin 2x if x#l
flx)=
a .
-_— i =0
1&

Which one of the following is correct in respect
of the function ?

{a) Itisnot continuousatx=0
(by Itisconlinuous at every x
(e} It is not continuous at x =
(di  Itis comtinuous at x=0

For the function fix) = |x - 3|, which one of
the following is ot correct 7

ia} The funetion is not continuwous at £ = = 3

(b} ‘The function is continuoas at x = 3
(e} The function is differentiable at x = 0
{d) The function is differentiable at x =-3

2x - sin * x

2y +tan” L x

I the funection Ox) = i%

eontinuous at each point in its domain, then
what 15 the value of f10) ?

1
¢ T
i 3

1
b =

3

p:
@& =
= 8
dy 2
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- ; Fix) — (1)
76. 3R fx) = J25-x? B, @ A= o,  y1-cos®
v g A lim =y, Yim Y- e w R 2
formrar e 2 ¢
- 1 ) 2
;534
1 () 242
[} (e
wad
1
1 ie) S
(] e ]
43
1 1
dl, - )y ——
443 a2
77. AR v = tag™! [M]g a1 9 femE BO. UE HeH f: A B, UHES fix) =x? -4x + 5
: 2+Gtanyx | dx g gfonfem ®, Sl A=, 0 | B ow

il gft (=) s & 7
W (a) (2,5

D% v
B} 1 fhl (1, 8
(el -1

: ) (L5
73 R

2x (d) 11, 5]
1] 5]

78. Wﬂxi=xﬁu1+cnax+%nﬁxa§ﬂﬁﬂ

H, Freifefin & 9 v oh & 0

Bl.

- x] dx ToFmds womr B, == ()

Imdhj'

i

(a) ﬂ‘ﬁ.ﬁﬂ'{lﬁ[ﬂ.%]ﬁﬁlﬁﬂﬁ qEem qoils S 8 7

- l‘ 7Y = ial b=na
(b) TE, HAWTE u.EJﬂmrﬁm%

L%
ik a-hb
(e} w,aima[u.fjfrmwnﬁ
2 icyk 0
id) wm[;;]ﬂma (d)  2(h—a)l
YPL-S-8LU (28 —A )
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76. ¥ fx)=25-x%, then what is|pg
|y § =1
1
2 P
J24
1
{h)
J?'.-d.
1
(&), —=—
i 4J§
1
id)
443
4 [5—2tanx dy
7. Ify=tan |- ],ﬂmnw]:mt == | ag,
s [2 +Btan x dx
equal to 7
1
fH) =
i e
th) 1
i R—
1
id}
25:&

78. Which one of the following is correct in
respect of the function
Ex}:::ain:t-hmsx-b%mix? 81.
fal [t is increasing in the interval [ﬂ, g]

(b} It remains constant in the interval
i .r[‘]
Q, =
>3
(¢) Itis decreasing in the interval (u, %)
(d) Itis decreasing in the interval [{;- T—E‘]
YPL-S-BLL (28-A)
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1— cosd
i to ?

What is E].'E'.I;I:I.ﬂ 5 equal
(a) \E
(b) 22

1
()
w &

1

id} - —

22

A function f: A — R is defined by the equation
fx) = %% — dx + 6 whare A = (1, 4). What is the
range of the function ?

ta) (2, 5}

(hy (1, &)

{e) [L5)

(dy [1,5]
b b

What is J‘ t:]dn{-"- xldx equal to,
n -

where |.] is the greatest integer function ?

{a} b-a
(h) a-b
) O

d) Z2(b—al
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2}
#2, I |%—5|ds ToFms s 2 7
2

ah 2
by '3
el 4
idry 8

83, jain*’xmmx TRk w0

(al r:ua-ir+|:

bt sin*x+e

{1 — sin® x1*

4

()

i1 - cos”® x)°

i
4

HET o O B |

a4, J'Efwm-*ax e

i) fn|tanx| +e
b} I |seex|+e

el tan x + ¢
d) " g

HET o HUFEFEA-E R |

YPL-S-BLU

(30-A)

(@l

(h

ic)

(b

=

b

prepp
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g6, Tefafan smoa 8§ 8 feed, wem

fix)=x* - 5x + G BHAN & 7

Y
i)
fel

id}

[— oo, 2]
[3; =)
{— v o)

(2,3

B7. d@&-Hel v = p eoslax) + g sin (ax), = Poq

=g 3T 8, W1 3w g f

(&}

()

{e)

{d)
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|
B2, What ia I|x—5|d; equal to 7

P

(a) 2
by 3
e} 4
dl 8

83. Whatis I sin” x cos x dx equal to ?

iak {:uEl'lr+1:

b} s&in'x+e

P
~gins ®)
() i1 s; b -

whire ¢ 18 the constant of intéegration.

B4. Whatis jemmﬂd_t equal to 7

fa}) In|tanx | +¢
by In |soex| +c

(el tan X + ¢

(d) a0 F4p

where ¢ is the constant of integration.

YPL-5-8LU

87.

(31-A)

Lak

{h}

{c)

(d)
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o

1

d ;

B5. Whatis J.{E(tan x]!dﬁ: equal to 7
X

]

£
i

b | &

=0 B

In which one of the following intervals 18 the
function fix) = x* - 5x + § decreasing 7

ial
(b}
{oh

dl

'rl""" o E‘l'
13, ==
M s

(2, 3)

The differential equation of the fmmily of

curves ¥ = peos (ax) + g sin (ax), where p, q

are arbitrary constants, is

LEL)

(b}

(e

5

d%y
EE

=

—aﬁr:ﬂ

=5

B
B
tad

-ay=0

R

=1
B
o

+ay =0

!

b
e

Hﬁf:ﬂ

|

j=%
-
B
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-2)  #@ w3l gE N
dy _ 3 1

i xd 5 ® HR WA G G W
17x%y —6x* + 3x° -2 =0

(b} Bxly+1Tx*+ 2" _3=0
(0] Bxy-2x" +17x" +3=0
(d) 1Tx"v+Bxy—-8x"+5=0

6 Hamel @UiEAn R Wil w8, Tawr v
y=acosx+bsinx+oee™+dB, T a,b,ec

3 dwEws I E 7

fa) 1
(b) 2
B (. .
dr 4

YPL-5-BLU

HeEl o U TS W= R |

91.

(32-A)
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T2 u = ™ sin bx 3T v = e™ cos bx &, A

uge v:x_" frmes W 29
(a) ae®™™

(b (a®+ b¥e™

(c} aba™™=

(dy  (a+hble™

92. AR y = siniln x) B, T F=fafgm § 7 R

uE Hft R 7
2
ia) gg:wvjwﬂ
di
edly | dy
icl x d.xg -HtdI +y=0
(d) xﬂﬁ —x y-0
dx? dx wE

93. ﬁﬁ@%ﬂﬁﬁﬁﬁﬁﬁﬁm

40 m T % UF AW 9 91 @R T & | gf
wrt ) afiman Guifda Se%a 8, & dee
CAREE S

fal  25m
(b  20m
e} 10m
idié Bm
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BHB. The equation of the corve passing|9l1.
through the point (-1, — 2} which satisfies
dv TR L.
E =2 —5Nx — F + 1%
(a) ]TKE}T—EIE+3}EE—E=H
b)  Ex'y 17" + 2x" —3 =0
el Ex}r—z:r.2+1'fxi+:i=u
(d) 17y + By -3+ 5=0
82,
89. What iz the order of the differential
equation whose solution is
y=acosx +bhsinx +ce” +d where o, b, ¢
and d are aritrary constants 7
(ad 1
by 2
ick 3
(dl 4
B, What ia the sclution of the differential
equation [E] =ax+hy?
8a.
(gl ae™+be®=¢
b} lau + L] ¥ =
a b
i) aa“a—be_h":c
idi lE“+—E_M=E
B
where ¢ 18 an arlntrary constant.
YPL-3-BLU {33 =A)
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If u=e"ginbx and v =&"" ¢cos bx, then
what :ii+1.|"i—Iu +\r£ equal to ?
dx dx
() ae'™t
(b} {a” + b e™
foh gh a*2%
idi  {a+bie™
If v = gin {In x), then which one of the
following is correct ?
2
ial gy +y=10
gt
2
(b 33—-: =0
ek xﬂdﬂ}l +:‘:-':-Il +y =i
dx? O dx
idl Jciﬂ _xd__v +y=0
dx® dx
A flower-bed in the form of B sector has been

fenced by a wire of 40m length. If the
fower-bed has the greatest pozsible area, then
what is the radius of the sector 7

fa) 20m
(b} 20m
(e} 10m
id] Gm
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o4,

THE?
RRE-

(&) [E]E
4

by 1
1

e} E
b
J1a

(d) [E]

5. Ifﬁ:.rﬂ |£i.n:'|:1]”%,7.'ﬁ'a:=—

TR 7

X

- ’
iy, B (6 In 2 = +/37)

1
[x(x — 1)+ 1J3, T8 0 <x <18, T W9 79

Emﬂmm

L

dx

(5]
:
w2 (Bin 2 +3n)
6
= i
9 8(GIn 2+ /30
)
6
R
@ 28 (@ In 2 — JAn)
6
99,
df1—
M, —e——— miﬂ'ﬁ'{ﬂ T11'l5=“r—--;m--‘:£
dx 2
B2
(Al ©Cosx+EinX
{bl] ={¢pzx+ 8inx)
ic) #icoax 4+ snx)
I | @ w=
YPL-S-BLU (34-A)

gR, HA Hifew B fix + v =

prepp
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dx Frms g
Ia_“ﬂ-ingx-rbxmﬂ:"x Lk
1 ~1fatanx
{m) ::+aht.a.n[ b :|
{1:3] c-itan'lfhtaﬂj
ab
(el c+itm1_[ ]
aqden # @ w1
A ¢ HHTEREA-ET & |

fxfly) 3
fix) = 1 + xgixiix) B, F& lim gix) = a 3R
¥ —5

lim $ix)=b® | T Fix) Frs smE R 2

X &

ial 1+ abfix)

bl 1+ah

ier  ab

(d}  abfix)

e w0 XYL e e
dy x4yv-=1

ja) v-x4+dinix+vl=c

b} v+x+2lnix+yl=c

e} y-x+nix+yl=c

(dy vy+x+2Mmix+yi=¢c

TEl o wHes R |
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4. What is the minimum value of [xix — 1)+ 1],
where 0<x=<17
3]3
1@l [4
by 1
1
fe), =
3 5
A
(d) [EJ“
o |
85, Ify=|sinx|'*, thenwhntmthavaluanij
X
K
At == = T
4]
_f;i -
@ 2 °6in2 V3r)
6
6
(b1 2606 In 2+ J3n)
&
_x
@ 2 6B(Gln 2+3n)
E
x
] -
@ 206z J3r)
]
d./1 - 5in 2
96. What is % equal to, where
18
— g =7
4
(al cosx+zinx
(b} = {cosx + Bin x}
el %(cosx + sin x)
id} Noneof the above
YPL-S-BLU

97.

(36— A)
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g dx
What is equal ta ?
_[ a? gin® x + E:uﬂ ﬂﬂsi_x

fal o+ —tarl ( J
b) [

1 _|.|r.|:l te IJ
el e+—tan |

ah \
(d) None of the above

where ¢ 18 the constant of integration.

Let flx + y) = filxfly) and fix) = 1 + xplxipix),
where %ﬁﬂ:a and li;-;ouﬁx,ﬁ:h. Then
u X

what is f'{x) equal to ?

{a) 1+ abfix)
(b} 1+ab

{e} ab

(d) abflx)

What is the aolution of the differential

dy E+y =1
) yv=x+dfnix+yi=c

b) wv+x2+Zimix+v)i=c
&) yv-x+lnix+yl=
dl] y+x+2nix+vi=c

where ¢ is an arbitrary constant.
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104D,

Zain® x+sinx—1

li firrrk @ B 7

_— 2gin"x —9sinx+1
(1
1
ial - =
2
1
7 S
b} 3
(] —12

i}

101, 7R % 98 T 9 f s A e

1K2.

YPL-S-BLU

5 M &, W AeTEE 10 W oAgE W= R
i &

) %
b =
(e} %
W =

a0 BENi F TR WO=A W ST HEEEd
O 8 B | A 1TEE ®EIEEM g A 9
ma fererm i wfegmm 2

BO%:

il

(bl

foy Bl

id)  36%

{ 36 -

103.

104.

105,

Ad

prepp
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st 3 S F um ffm T A ofwe
=y 25 @9 § | Al e % w4 slan
= 26 @Y oW i & TR A 21 A R, W@
ayE # sl st st i sfmm w2

{a) 20,80
(k) 40,60
fc) 60, 40
id) 80,20

A win o W cos o F FIEH WET sin p# il
sin o 3N cos o H GUEL TSI sin 0 F, W

frferfiaa 4 & $haam/d o 38 -

f b
1. 2 sinja+ EJsinﬂ=sm2ﬂ
L

% T
I B = =it
2 \FE-' 5in L‘ﬂEII:I:I. 4]

e feu w0 e = A a9
e 1

(b e 2

(er 1 3f 2 2]

(dy aFM1LIH 2

(Al

am #Hifaw A, B o C u% aigfees wEm 4
waEiYy 9 I wyEtaa 3 fen gzand
# 1 af2 pB) = 15 P(A) 3T P(C) = 05 P(B) B,
a1 PrA) e B

{a) :—
(b} %
Lch %
(d) %
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100. What is lim Ef'"; i ok al
,_,E Zsin” x —dsinx+1
to 7
1
R
(a 5
1
by -=
3
e =2
dy -3
101. If two dice are thrown and at least one of the
dice shows 5, then the probability that the
sum 15 10 or more is
1
{a) E
b =
s 11
3
el ﬁ
2
d G
(d) 1
102. The correlation coefficient computed from a
set of 30 observations is 0-8. Then the
percentage of variation not explained by linear
reEression 15
lal 80%
{h) 20%
e  B4%
d} 36%
YPL-5-BLU {37

103.

104,

105,

-5 )

The average age of a combined group of men
and women is 25 years. If the average age of
the group of men is 26 years and that of the
then the
percentage of men and women in the group is
reapectively

group of women 15 21  years,

{a) 20,80
() 40, B0
(¢) 60,40
(d) 80,20

IT sin [ is the harmome mean of sin o and
cos o, and gin 0 is the arithmetic mean of sin o
and ecos o, then which of the following isfare

carrect ?
1. u"iﬂi.ﬂ[u+£]5iuﬂﬂstu:3:1
2, 42 Hinﬂ=ms[::—§J

Solect the correct answer using the code given
below

{a) 1aonly

i) 2 only

{c} Bothland2

id] Neither 1 nor 2

Let A, B and C be three mutually exclusive

and exhaustive ovents aszociated with a
random experiment, If P(B) = 1-6 PA) and
PC) = -6 PiB), then PiA) is equal to

{a) %
(h) ﬁ;
el g
Lel) %

prepp

Your Personal Exams Guide



www.prepp.in

1046.

107.

YPL-5-BLU

uF =tee el 4, i X, v, 2 Sl & we
IR T WA 25%, 36% N 40% d@ed @
Tmin =l 8 | weie X, Y, Z o 2w, 4% o
5% Brql Aieel o e owEh € ) Ema A g
TEfeew ¥ ¥ UF 9w e am # o T
STV 9T AT # | Ry wiEa ® R 33 i
X BT 59 T 4 7

&) —=
(b} —
i) e

) =

8 T v oy 3o 9@ B | sndsw s Be
W 1w Wi & 7

T
() —
G4

a7
{b) 4

a7

{c) ﬁ

229

d Lo
o 256

(38-A)

prepp

r Personal Exams Guide

108. 5=l % @7 mym #, 90 3 ==feal sk

1@:2&%%2@;1@@
37%% § | 7S waE O @ afew wY W@ US
o= F g AW R W o A A= d,
1 et oY 2 Tl & B9 o T wriheea @ ¢

13

{a)
M 38

b}y —
) —

(d}y —

100, Frafefas su w famm fifaw .

1. @ us g o weE v | 10 95 f
=i, Wt sitem & 10 1 ghg @ o
A

=g f2n

e § & FA FeA w2
(a) 1,23Mm3

{b) AW 132

(e) #aa 133

(d)  HE| 233
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106,

In a bolt factory, machines X, Y, Z
manufacture bolta that are respectively 25%,
35% and 40% of the factory's total output, The
machines X, ¥, Z respectively produce 2%, 4%
and 5% defective bolts. A bolt is drawn at
random from the product and 15 found to be
defective, What is the probability that it was
manufactured by machine X 7

fa) f—g
(1) %—E
) *z-g
(d) %

107. 8 eoins are tossed simuoltaneounsly, The
probability of getting at least 6 heads i
i}
[ —
W
57
k] —
G4
37
T St
T T
229
id} =ity
266
¥PL-5-BLU

108.

109,

{39-A)

prepp
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Three groups of children contain 3 girls and
1 boy; 2 girls and 2 bovs; 1 girl and 3 boya.
One child is selected at random from each
group. The probability that the three selected
consist of 1 girl and 2 boys ia

{al %
(b) 3—92
ic) %
() 3—12

Conszider the following statements :

1 If 10 iz added to each entry on a list,
then the average increases by 10,

2, If 10 is added to each entry on a list,
then the standard deviation increases by
10

3 If gach entry on a list is doubled, then
the average doublos.

YWhich of the above statements are correct 7

{a) 1,2and3

k) 1and2only
{¢) 1and3only
id} 2and 3 only



www.prepp.in

114

111.

112,

YPL-5-BLU

25 Heoil o wEe 4 8 | 3fE e qaw i 2 9
feu =g 2, 1 ofomdt dEei A v

B 7

(m) 2
by 4
c) 6
idy 8

qﬁﬁaﬁxﬁ?%?ﬁxﬁ}ﬂ.yi}ﬂgﬂ
(i=1,2 8, .0 R 797 = TOTH 9T FHE:
pak QF, @ % 1 T Hrey

P
la) —
YR
() amkilng [FJ
Q)
() n{logP-logQ)
{dl mnilog P+ log Q)

afz 2 wearst A 3 B ¥ s my BR
uifrem p B 3 =90 (A af B ©) O dmd
Tl s & @ 6 mimm o 8, @1 Fafalies
§ W i TR 7

1. PA1+PB)=2-2p—q

2. P[il"lﬁfl:l—p—q

1 fom e g2 w1 v = oA T 9
{a) HaE 1

(b} WREE 2

1 3% 2 M1

(d) I LIE2

{el

(40-A)

114.

114.

115.

prepp
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ofE X T Y & gEEE O - 6 R, 3 X ali
?#ﬁwm-%i.ﬁ?mxm

HHTER A F
(al EIE

b - %

el - é

@ g

P Tl (xy, yy) (xg, ¥oh o (X ¥) T U0
A= 5 v=E & G mft am fim § afn o
) S AT ATE U we E w # e
« 3T y % o EREE T F e A
{a) haer 03 1

(h)  WEE 03T -1

fed 0,13 _1

(d) e — 131

T (0, 1, 2, ..., 101 0 & 2 quis « sl g,
m“ﬁﬂﬁﬁﬁi I ]r—y|}5ﬂiﬁﬁ'
=1 Wi #

[
11

35
121
30
121
25
121

{a)

{h)

Led

(d)
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110. The variance of 25 observations is 4. If 2 is
added to each observation, then the new
varinnce of the resulling observations is

(al 2
hi 4
ke B
id) 8
111. l'f‘!-{-l >0,y =0 fi=1,2 3 ..0 are the values
of two variables X and ¥ with peometric
meang P oand Q respectively, then the
geometric mean of % 5
P
fa) —
o]
-
by  antilog {—]
.
et nilogP-logQ)
idd nllogP +log Q)

112, If the probability of simultaneous occurrence

of two events A and B is pand the probability
that exactly one of A, B occurs is q. then which
of the following is'are correct ?

1. F{EI+FF_EJ:E_E]J_q
2. HEﬁEJ:l—F"q
Select the correct answer using the code given

below :

{al 1only

ihy 2 only

(el Both 1and 2
{d) Neither 1 nor 2

YPL-5-BLU

113.

114.

115.

(41-A)
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If the regression coefficient of ¥ on X is — 6,
and the correlation coefficient between X and

Y is - %. then the regression coefficient of X

on Y would be
{a) %

® -
el —E—If

{d) %

The set of bivariate observations (x;, ¥),
Xy ¥aly ooy Xy, ¥ ) are such that all the values
are distinet and all the observations fall on a
straight line with non-zern slope. Then the
pussible wvalues of the correlation coefficient

between x and v are

(al 0 and1only
ib} Dand-1only
fe) 0,1and-1
tdl —1and 1only

Two integers x and ¥y are chosen with
replacement from the set (0, 1, 2, ..., 10}, The
probability that |x -y | > 5is

al il

B
) %
(d) 52;‘1
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116. U% ¥ JAW 4§ Heiga @1 w9-a A 3 B #

117.

{a) 14
(b) 16
(e} 18
idy 20
¥YPL-S-BLU (42 -

wfgw *1 fGm o wlEE da s R,

Tafeatian aftomm 2 & -

FOAT A | FOET B
HiWeRT i HEA 500 BOD
Fie wifEs a5 T 1860 | T 1750
A1 & "ed W 81 1,;,..;;- |

il A ofn B % ot afiw & o @ fan
T Wi g6 W me Wi dEE % w52 =
o 8

(a) F 1860, 100

(b)) & 1760, 100

fey & 1800, 81

(d) IEEE H H w0

# g s e W1, 2,8, 4, 63 6%
i #, W1, 10 el ¥ @ oo
et @ B | 9 oifae B x, ¢ s 2w
-1, TR-DL, WAL 9 g ATy Fefe
W 7 | 8 R % awfEm ufomd & dem
T i xsysz8?
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118. U= afamgs 4, Freafalas 9 9 50 o\ @

119,

120,

Al

e

fa) HIED

(v wfeER (difEa)
{e)  TEITHT HYEA

i) TEES (HIE)

fieht W s Aoh & (A R wE T T
g}, aft x v © wey oA W AR F
t aft v yew Faem W Befm W 2, A

Frfafin 8 & #Fm v =0 2
a) y=x
thy) y=x
e} x=¥
dl] =x<¥

frefefas 4 & fem v Tl 82, s oww
SOUTTE HEEEE WIS B ] e w0 7

() it s wfsel 6 s
(b @ = w9 s gigen

Wy FufEt & @ 3t 3= gE & Fem
Fomemr 3= AT w9

[e)

(d) =l A AN FEE 6 SeEn (IT)




www.prepp.i_n rrepp

Your Personal Exams Guide

118. An analysiz of monthly wages paid to the | 118, Which one of the following ean be obtained
workers in two firms A and B belonging to the from an ogive 7
same industry gives the following result :
(al  Mean
FirmA | Firm B
e (bl Median
Number of workers GO0 GO0
i"‘-‘rmﬂf monthly F 1860 | ¥ 1750 te}  Geomeiric mean
Variance of :
distribution of wages | 100 (d)  Mode
The average of monthly wage and variance of
distribution of wages of all the workers in the
B A B i Reaiiiar s 119. In any digcrete series iwhen all values are not
game), if ®x represents mean deviation about
{a} ¥ 1860, 100 mean and ¥ represents standard deviation,
hich a ing i it 7
b} T 1750, 100 then w. one of the following is correct |
() ¥ 1800, 81 ) =
(d}  MNone of the above h ¥ysx
ey Ky
117. Three dice having digits 1, 2, 3, 4, 5 and 6 on (M x<y
their faces are marked 1, IT and 11T and rolled.
Let x, v and 2 represent the number on die-T,
die-1l and die-Ill respectively. What is the [120. In which one of the following cases would you
number of posgible oulecomes such that expect to get o negative correlation 7
X>yp>x?
{n)  The ages of hushands and wives
(a) 14
{bl  Bhoe sizge and intellipence
(b 16
(e} Insurance companies’ profits and the
s 8 number of claims they have to pay
d) 20 k
(d] - Amount of rainfall and yield of crop
YPL-3-BLU (43-A)
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e &1 & oo srg
SPACE FOR ROUGH WORK
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o &TH & ot wE
SPACE FOR ROUGH WORK

YPL-S-BLU (45 -A)
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el HH & oo sg
SPACE FOR ROUGH WORK

YPL-S-BLU (46-A)
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=l W & oo wmg
SPACE FOR ROUGH WORK
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DO NOT OPEN THIS TEST BOOKLET UNTIL YOU ARE TOLD TO DO S0

T.B.C. : YPL-S-BLU Test Booklet Series

TEST BOOKLET
MATHEMATICS

e ——
Time Allowed : Twe Hours and Thirty Minutes Maximum Marks : 300
INSTRUCTIONS
1. IMMEDIATELY AFTER THE COMMENCEMENT OF THE EXAMINATION, YOU SHOULD CHECK THAT
THIS TEST BOOKLET DOES NOT HAVE ANY UNPRINTED OR TORN OR MISSING PAGES OR ITEMS,

ETC. IF 30, GET IT EEPLACED BY A COMPLETE TEST BOOKLET.

2,  Please note that it is the candidate’s responsibility to encode and fill in the Roll Number and Test
Booklet Series Code A, B, C or D carefully and without any omission or discrepancy at the
appropriate places in the OMR Answer Sheet. Any omission/discrepancy will render the Answer
Sheat linhle for rejection.

8. You have to enter vour Roll Number on the
Test Booklet in the Box provided alongside.

DO NOT write anything else on the Test Booklet.

4.  This Test Booklet containe 120 items (questions). Each item is printed both in Hindi and English.
Fach item comprizges four responses (answers). You will select the responze which you want to mark
on the Answer Sheet. In case you feel that there is8 more than one correct response, mark the
response which you consider the best, In any case, choose ONLY ONE response for each item.

5. You have to mark all your responses ONLY on the separate Answer Sheet provided. See directiona
in the Answer Sheet.

6. Al items carry equal marks.

7. Before you proceed to mark in the Answer Sheet the response Lo various items in the Test Booklet,
you have to fill in some particulars in the Answer Sheet as per instructions sent ta you with your
Admassion Certificate,

8.  After you have completed filling in all your responses on the Answer Sheet and the examination has
concluded, you should hand over to the Invigilator only the Answer Sheef. You are permitted to
take away with vou the Test Booklet.

9.  Sheets for rough work are appended in the Test Booklet at the end.

10. Penalty for wrong answers :

THERE WILL BE PENALTY FOR WRONG ANSWERS MARKED BY A CANDIDATE IN THE
OBJECTIVE TYPE QUESTION PAPERS,
(1) There are four alternatives for the answer to every guestion, For each question for which a wrong answer

has been given by the candidate, one-third of the marks assigned to thot question will be deducted a8
penalty.

(i)  If a candidate gives more than one answer, it will be treated as n wrong answer even if one of the given
anawers happens to be correct and there will be same penaliy as above to that question.

(i} If a question is left blank, ie., no answer is given by the candidate, thers will be no penalty for that
fuesELn.

DO NOT OPEN THIS TEST BOOKLET UNTIL YOU ARE TOLD TO DO 80
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